

بسبب ضيق الوقت ما لخصت التشابتر، هاد تلخيص دكتور عبدالرحيم موسى وضفت عليه النوتس الي بحكيهم خلال الشرح ورح يكون هيك لآخر المادة GOOD LUCKKKKK

STUDENTS-HUB.com

$$\begin{array}{c} \hline 10 \cdot 10 & The Binomial Series and \\ \hline Applications of Taylor Series \\ * The Binomial series of $f(x) = (1+x)^{m}$ is "aign Taylor series equ"

$$(1+x)^{m} = 1 + \sum_{K=1}^{\infty} {m \choose K} , \quad |x| < 1 , m \text{ is constant} \\ (1+x)^{m} = 1 + \sum_{K=1}^{\infty} {m \choose K} , \quad |x| < 1 , m \text{ is constant} \\ \hline uhere {m \choose 1} = m , \quad {m \choose 2} = \frac{m(m-1)}{2} \\ \begin{pmatrix} m \\ k \end{pmatrix} = \frac{m(m-1)(m-2) \cdots (m-K+1)}{K!} \text{ for } K \ge 3 \\ \hline Exp Find He first four terms of the binomial series for \\ \hline I (1+x)^{\frac{1}{2}} = 1 + \sum_{K=1}^{\infty} {t \choose K} x^{\frac{1}{2}} = 1 + \frac{x}{2} + \frac{(\frac{1}{2})(-\frac{1}{2})x}{16} + \frac{(\frac{1}{2})(-\frac{1}{2})x}{3!} + \frac{(\frac{1}{2})(-\frac{1}{2})x}{3!} \\ = 1 + \frac{x}{2} - \frac{x^{2}}{2} + \frac{x^{2}}{16} - \cdots \\ \hline I \left[1 + x \right]^{\frac{1}{2}} = 1 + \sum_{K=1}^{\infty} {t \choose K} x^{\frac{1}{2}} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} \\ = 1 + x + \frac{(-3)(-3)(-x)^{\frac{2}{2}}}{2} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{x^{2}}{2} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{(-2)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = 1 + x + \frac{3x^{2}}{4} + \frac{x^{2}}{2} + \frac{x^{2}}{2} + \cdots \\ = 1 + \frac{x}{4} + \frac{(-3)(-3)(-x)^{\frac{3}{2}}}{3!} + \frac{(-3)(-3)(-4)(-\frac{x}{2})^{\frac{3}{2}}}{3!} + \cdots \\ = \frac{1}{5} (1 - \frac{x}{4} + \frac{3x}{4} + \frac{x^{2}}{2} + \frac{x^{2}}{2} + \cdots \\ = \frac{1}{5} (1 + \frac{x}{4} + \frac{3x}{4} + \frac{x^{2}}{2} + \frac{x^{2}}{4} + \frac{x^{2$$$$

$$\begin{split} \hline \boxed{2} \int_{0}^{0.2} \frac{e^{-x}}{x} dx &= \int_{0}^{0.2} \frac{1}{x} \left(e^{x} - 1 \right) dx &= 1 + x + \frac{x}{21} + \frac{x}{21} + \frac{x}{21} + \frac{x}{21} \\ &= \int_{0}^{0.2} \frac{1}{x} \left(\frac{y}{x} + \frac{x^{2}}{21} - \frac{x^{2}}{3!} + \frac{x}{4!} - \dots - 1 \right) dx \\ &= \int_{0}^{0.2} \left(-1 + \frac{x}{21} - \frac{x^{2}}{3!} + \frac{x}{4!} - \dots - 1 \right) dx \\ &= \int_{0}^{0.2} \left(-1 + \frac{x}{21} - \frac{x^{2}}{3!} + \frac{x}{4!} - \dots \right) dx \\ &= \left[-x + \frac{x^{2}}{4} - \frac{x}{18} + \frac{1}{18} + \frac{x}{14} + \frac{x}{10} - \dots \right]_{0}^{0} \approx -(0 \cdot 2) + \frac{(0 \cdot 2)^{2}}{7} + \frac{(0 \cdot 2)^{2}}{18} \approx -0.19077 \\ &\text{with envor } /E | \leq \left(\frac{0 \cdot 2^{4}}{96} + \frac{x}{20 \cdot 0} + \frac{x}{2} + \frac{x}{18} + \frac{x}{1$$

STUDENTS-HUB.com

Find Taylor series of f(x) = lnx at x=1 82.1 $f(x) = \ln x$ >> f(1) = 0 $f(x) = \frac{1}{x} = x^{-1}$ =) f(1) = 1 $f(x) = -x^{-2}$ =) f(1) = -1 $f(x) = 2x^{-3}$ =) f(1) = 2 $f(x) = -6 x^{-4}$ =) f(1) = -6 $\ln x = \sum_{n=1}^{\infty} \frac{f(n)}{n!} (x-1)^{n}$ $= f(1) + f(1)(x-1) + \frac{f(1)}{2!}(x-1)^{2} + \frac{f(1)}{2!}(x-1)^{3} + \cdots$ $= o + (x-1) - \frac{1}{2}(x-1)^{2} + \frac{2}{6}(x-1)^{3} - \frac{6}{24}(x-1)^{4} + \cdots$ $= (X-1) - \frac{(X-1)^2}{2} + \frac{(X-1)^3}{3} - \frac{(X-1)^4}{4} + \cdots$ $= \sum_{(-1)}^{n+1} (x-1)^{n}$ STUDENTS-HUB.com Uploaded By: anonymous

Indeterminate forms
End Use series to evaluate the limits:
II lim
$$\frac{\ln x}{x \to 1}$$
 Taylor series of $\ln x$ about $x = 1$ is
 $\ln x = (x - 1) - \frac{1}{2}(x - 1)^2 + \cdots$
 $= \lim_{x \to 1} (1 - \frac{1}{2}(x - 1) + \cdots) = 1$
II lim $\frac{e}{x \to 1} - \frac{1}{x^2}(x - 1) + \cdots = 1$
II lim $\frac{e}{x \to 1} - \frac{1}{x^2}(x - 1) + \cdots = 1$
II lim $\frac{e}{x \to 1} - \frac{1}{x^2}(x - 1) + \cdots = 1$
II lim $\frac{e}{x \to 1} - \frac{1}{x^2}(x - 1) + \frac{1}{x^2}(x - 1 - x)$
 $= \lim_{x \to 0} \frac{1}{x^2}(x + \frac{x}{21} + \frac{x}{21} + \frac{x}{21} + \cdots + \frac{1}{x^2})$
 $= \lim_{x \to 0} \frac{1}{x^2}(x + \frac{x}{31} + \cdots) = \frac{1}{2}$
II lim $\frac{y - \tan^2 y}{y^3} = \lim_{y \to 0} \frac{1}{y^3}[y - (y - \frac{y}{3} + \frac{y}{3} - \cdots)]$
 $= \lim_{x \to 0} \left[\frac{1}{x^2} - \frac{y^2}{3} + \frac{y}{31} + \frac{x}{11} + \frac{x}{51} + \frac{x}{61} + \cdots + \frac{1}{61} + \frac{1}{11} + \frac{1}{21} + \frac{x}{31} + \frac{x}{11} + \frac{x}{51} + \frac{x}{61} + \frac{x}{61} + \cdots + \frac{1}{61} + \frac{1}{11} + \frac{1}{21} + \frac{1}{31} + \frac{1}{1} + \frac{1}{1} + \frac{1}{51} + \frac{1$

STUDENTS-HUB.com

$$\begin{aligned} 31 \ 2\left[1 + \chi - (1 + \chi)^{\frac{1}{2}} \\ = 1 + \left(\frac{1}{2}\right) \chi^{1} + \left(\frac{1}{2}\right) \chi^{1} + \left(\frac{1}{2}\right) \chi^{1} + \dots \\ = 1 + \frac{1}{3} + \frac{1}{3} + \frac{1}{2} + \frac{1}{2} + \frac{1}{3} +$$

STUDENTS-HUB.com